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‘ Part C. Reading Comprehension

| Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4). Then
mark it on your answer sheet.

In the broadest sense, remote sensing is the measurement or acquisition of information of
an object or phenomenon, by a recording device that is not in physical or intimate contact
with the object. In practice, remote sensing is the utilization at a distance (as from
aircraft, spacecraft, satellite, or ship) of any device for gathering information about the
environment. Thus an aircraft taking photographs, Earth observation and weather
satellites, monitoring of a fetus in the womb via ultrasound, and space probes are all
examples of remote sensing. In modern usage, the term generally refers to techniques
involving the use of instruments aboard aircraft and spacecraft, and is distinct from other
imaging-related fields such as medical imaging or photogrammetry. While all astronomy
could be considered remote sensing (in fact, extremely remote sensing) the term "remote
sensing" is normally only applied to terrestrial and weather observations.

Practically, remote Sensing is acquisition of information about —----e- ;

1) weather . 2) environment

3) fetus in the womb 4) any object or phenomenon
Remote sensing «--—--—--.- .

1) involves only weather observations

2) can be considered as a kind of astronomy

3) normally deals with terrestrial measurements

4) is very similar to medical imaging and photogrammetry

Remote sensing involves ---eeeme-- .

1) a media to broadcast the signals

2) the process of extraction of information

3) a phenomenon as well as a recording device

4) intimate contact between sensors and the phenomenon

Which one of the followings is the main difference between remote sensing and the other
imaging fields?

1) The sensor 2) The platform 3) The technique 4) The recording device
"The utilization at a distance of any device" means:

1) Any device is used at a distance

2) Any device is at a distance of utility

3) The utility is at a distance of any device

4) There is a distance between utility and any device
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Map overlay is the combination of two separate spatial datasets (points, lines or
polygons) to create a new output vector dataset, These overlays are similar to
mathematical Venn diagram overlays. A union overlay combines the spatial features and
attribute tables of both inputs into a single new output. An intersect overlay defines the
area where both inputs overlap and retains a set of attribute fields for each. A symmetric
difference overlay defines an output area that includes the total area of both inputs except
for the overlapping area. Data extraction is a GIS process similar to vector overlay,
though it can be used in either vector or raster data analysis. Rather than combining the
properties and features of both datasets, data extraction involves using a "clip" or "mask"
t0 extract the features of one dataset that fall within the spatial extent of another dataset.

Map overlay --------_-

1) 1s specific to spatial datasets

2) creates just new vector dataset

3) is comparable to Venn diagram overlay ,

4) consists of combination of Just two separate spatial datasets

Which one of the following sentences is correct?

1) Union overlay is the combination of spatial features and attribute tables

2) Symmetric difference overlay defines an area that includes the total area

3) Symmetric difference overlay is the union overlay minus intersect overlay

4) Intersect overlay defines new sets of attribute tables which didn't exist before
Which one of the following sentences is correct?

1) Venn diagram is same as map overlay

2) Map overlay is a vector overlay process

3) Map overlay explains the mathematics of Venn diagram

4) Points, lines and polygons are all mixed together in a map overlay process
Data extraction ---e-cae-,

1) is a vector overlay process 2) combines properties of datasets
3) mvolves combination of dataset features 4) can be applied to both vector and raster data
Which one of the following sentences is correct?

1) Spatial extend of one dataset masks the data extraction process

2) Data extraction involves both combination and masking of datasets

3) GIS extracts dataset which falls within the spatial extend of another one

4) Data extraction process does not combine the properties / features of datasets

B et | alos  ole a5 woly iolee a0l Jasel aolds gl lval 35 L

Raw phase and psendorange measurements obtained with the Global Positioning System
(GPS) can be regarded as biased ranges between the transmitter and the receiver.

1) used 2) obtained 3) measured 4) considered

The mapping of random measurement errors through geometric configuration into the
positioning solution has been well studied, and the concept of Geometrical Dilution of
Precision (GDOP) are familiar to people who work with GPS.

1) idea 2) rule 3) model 4) theory




13-

14-

16-

17-

18-

20-

Y daxio

Y7y us) rawazi 5l

In the situation where there is no a priori information for observations, the two weight

matrices are identical and hence the two approaches of eliminating bias parameters are
exactly equivalent, |

1) removing 2) reducing 3) changing 4) disturbing

In this situation, eliminating bias parameters from the measurements loses valuable
information by ignoring the a priori information.

1) adding 2) having 3) changing 4) neglecting

To illustrate the effect of bias estimation on point positioning, we first examine the unbiased
observation case, i.e., the case in which the observables are true ranges.

1) show 2) eliminate 3) illuminate 4) decorrelate

The Wide Area Augmentation System (WAAS) uses a series of ground reference stations to
calculate GPS correction messages, which are uploaded to a series of additional satellites in
geosynchronous orbit for transmission to GPS receivers, including information on ionospherie
delay and individual satellite clock drift.

1) harmonized with sun 2) harmonized with Earth

3) circular but not equatorial 4) equatorial but not circular

Low-cost GPS receivers are often combined with PDAs, ccll phones, car computers, or vehicle
tracking systems. The system can be used to automate harvesters, mine trucks, and other
vehicles. GPS equipment for the visually impaired is a available too,

1) blinds 2) climbers 3) map illiterates 4) computer illiterates
Mapping of resources and other less precise applications typically used with Geospatial

Anformation Systems often require greater precision than is possible with autonomous GPS

receivers, but do not justify the expense of a survey grade receiver.
1) geodetic 2) high accuracy 3) low cost 4)independent

GPS Machine Guidance is used for tractors and other large agricultural equipment via auto
steer or a visual aid displayed on a screen, which is extremely useful for controlled traffic and
row crop operations and when spraying.

1) map 2) control 3) plant 4) display

Most airlines allow passenger to use GPS units on their flights, except during landing and
take-off when other electronic devices are also restricted. According to this sentence one can
say:

1) Use of other electronic devices on the flights is always prohibited

2) Not all of the airlines permit passengers to use GPS onboard

3) All of passengers are allowed to use GPS on their flights

4) GPS units are used in landing and taking off
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